Covered Patio Room, and
Pool Enclosure

“OPEN" Structures ONLY

Project Location
Project Name
County
Permit Number

DESIGN CRITERI

Wind Velocity: 120 mph, 3 sec. gust
130 mph, 3 sec. gust

Risk Category: [
(FBC-2020 rev 7)

Enclosure Class.;
Wind Exposure Type: "B" or “C” (See tables)

Internal Pressure +/- 0.0 (Open)

Coefficient: +/- 0.18 (Enclosed)
Applicable Sunroom | - Roof with screens
Categories: Il - Roof with enclosed walls

"OPEN" or "ENCLOSED"

IV - Type Ill + Conditioned
**Type V Category is not
applicable for these plans
Al construction shall be provided in accordance
with the current recognized versions of the
Florida Building Code,
OSHA, AISC, ACI and ASCE codes as well as
all applicable local requirements.

Base connections shall be provided as shown
and shall be field adjusted on the basis of the
manufacturer's requirements for actual soil type.

All materials identified by manufacturer name
may be substituted with comparable materials

that exceed or equal the spadifications for the
original material.

All field connections shall be #10 SMS or better,
uniess noted otherwise.

All Aluminum shall be Alloy 6065T5 and/or 6061T6 for
horizontal and vertical framing members, except
E%mﬂmﬁga which are

P SR S

2 x 3 x 0.045” (Covered Patio Rooms)

e =

/ (4) #10 x 1 %" SMS through

*——  or2x2 with 1 x2 (Option)
] or 2 x 2 x 0.044" (Screen Only Rooms)

bosses

| Post (Varies in size)

Internal Receiving Channel

Post to Edge Purlin Connection
Scale: 3" = 12"
Alternate:
Attach inte
with (2) #10 x n
into

Post to Chair-Rail Connection

éx 1" SMS each side

By

Scale: 3" = 12"
—
Post (Varies in size) ——
1x 2 x 0.045" Base,

1/4" x 4" Wood Screw,

6" max. from

each side of posts and

24" 0.C, (max)

Or: #10 x 4" Wood Screws
6" max. from

each side of posts and

18" 0.C. (max)

aternal Receiving Channel
Amoq posts over 2 x 3 only)

2" x 2" Structural Angle
(For posts over 2 x 6 with non-screen roofs only)
*SEE ALTERNATES SHEET 2

1/4" x 4" Wood Screws

Thomas E. Beitelman, PE

3636 E. Park Ave., Unit 4303, Tallshassez, PL 32301
{321) 543-6750 - beitelmun@gmnil com

(typ.) STRUCTURAL ONLY
LICENSE #51870

7/21/2023

THOMAS E. BEITELMAN ||

\3\\_”,




Self-Mating Beam
Sloped or Flat
A Notch beam for post
Lo Internal Receiving Channel Attach internally - _
Post (Varies in size) i | (For posts over 2 x 3 only) from post P - .F..,,
2" x 2" Structural Angle Partial Lap Detsil ﬂ ] wn..
. (For posts over 2 x 6 with artial Lap Detail - 2x2with1x2 ———1 5 :
1x 2 x 0.045" Base, non-screen roofs only) le.:[ﬂlm%_.ﬂ! Attach with screws / [~e [+ // “ i
*SEE ALTERNATES SHEET 2 I CIINe spaced at 24 0.C. fmax. | _ o o X e 2
1/4" x 4" Tapcon, Scale: 3"=1'-0" \
6" max. from SMS into screw bosses | +® _m i
each side of posts and (20) #10 SMS ) [ i 3 \ =
24" O.C. ﬁ_ﬂﬁxv .__ [+ ] 1 m m M
_ © | B
{ \ - m h.
[ | et
Post 2 x 4 or Larger ,.,. _ M m =3
#8 x 916" TEKS Internal Base Channel \, L \ m R
: or #12 x 3/4 TEKS B 1% x 1% x 18" Pos “
Concrete Fiz PAT—— 1/4” x 4" through
Below T v Tven 1/4" x 4" Screws 1x2x0045 1 \
) @ 2° 0.C. attached to and 6" orless from . /
N ; support framin post attached to g A
Alternate Post to Base Connection (Concrete Base) il . “\_support framing N
Scale: 3" = 10" e —— - —— - A=
® - &
A r — —] \..q 1
Posts (2x2,2x3,3Xx2, 1x2x0.045 h\l Post 2 x 4 or Larger
2x 4 and 2x 5 Only) 8"
. 1 Typ. 1
1/4" x 4" Wood Screw, i A L 1x2x0.045
& ey, fom & Post Connections - Top Section
each side of posts and o Internal Base Channel "
24"0.C.max. (2x2,2x3, Scale: 3" =12 1% x 1% x1/8" m_mm
Or: #10 x 4" Wood Screws and 3x2) " mﬁ
» d T #8 x 9/16" TEKS
Pﬁuurﬁ%uo& e e e | (2) #10 x 2" SMS into screw 114" x 4" through 1 x 2 X 0.045 _ or #12 x 3/4 TEKS m 3
18" 0.C. (max) bosses, Both sides and 6" or less from post [ = S
o attached to support framing m m
= 1 B ; 114" x 4" Screws @ 2" OC. | 3
Beam Size attached to support framing w m_ m
g 2x3 2x3 6 M M & m
" Base 2x4 2x3 8 I—
i e 2x6 2x3 108 6 . . m ml
: 2x6 2x4 10 8 8 Post Connections - Side View L
2x7 2x4 14 12 10 o £
Wood Framing Additional screws @ 1 2x8 2x5 16 14 12 Scale: 3" = 12 2
Below from post for solid roof systems 2x9 2%6 18 16 14 e m
See note 1 below 20 18 THOMAS E. BEITELMAN
1 1stalla pquirements LICENSE #51
Alternate Post to Base Connection (Small post installation) #8__ #0_#12
AR A7 Minimum Spacing __ 5/8°  3/4" 1"
Bz < 1-0" Minimum Edge Distance  5/16" _ 3/8" %" \
1 - Screen Roof Systems only, unless additional screws installed Minimum screw quantity refers to total quantity of
as noted above. equal number of screws on both sides of the beam 7/21/2023 Sheet [2]of [8] |
2 - Alternately for concrete base, substitute into the post No. ]

1/4” x 4” Tapcon for wood screws with
irlantiral enacina racniremants



Attach m_._ﬂmﬂ_am_—v« With 2%2%0.125 Recelvi
Bt (2) #10 x 2" Screws 4Maqw%§.ﬂﬂasﬁwsmqsa sﬁ S
urlin l/ Into Screw Grooves Both Members
\ e \1. Attach To Stud Frame W/%" @ x 3"
4 i 4 o Lag Screws (Pre-Drill) 2%2x0.044°
- L B feimmeoaa g
p a af 3°
Attach ExternallyWith (4) .rx/l _ s alor 1 spam ablen)
#10 x 34" Screws Thru Beam
2x2%0.125 Angle Girder "~
By
TYPICAL PURLIN AND BEAM DETAIL TYPICAL GIRDER DETAIL TO HOST WALL m, m
2 x 2 x 0.125 Angle Clip Each m M
Side of Tributary Beam With #12 =%
Screws Into Both Members 1% x 2 1/8 Channel &mw
= ¥
: : 3 €l
L_, M ° T i u _. E g m
r 1i§ 38 ; : &5
A A 7 S £ iz
" "\ Girder Shal Be One Size —_— Girder Shall Be One Size . =
Deeper Than Tributary Beam Deeper Than Tributary Beam PP b~
TYPICAL BEAM AND GIRDER DETAIL ALTERNATE TYPICAL BEAM AND GIRDER DETAIL
| —Beam | Beam Allowable Post Helghts For
#10 Screws 1/4” Through bolts Square Posts (Screen Rooms
Verify length per post with nut mamn washer (120 mph, 3 second gust wind loads)
OR 1/4” Through bolts
with nut and washer ﬁmwo % 3 ht
l4— Post (3x 3) Post (3 x 3) |75 149" 18-2 |
» e A 100 133" 16-11" ale
125 1T 159" a i
350 10-9" 148" Scale: 1% = 1-0° m ‘
175 98" 138 =1 [3]
Intemal Base intormal Base 200 | g8 | 120 Typical Roof Peak Plate Connection £
an #8 x 9/16" TEKS #8 x 9/116" TEKS Imnmw ﬂ._%. ﬂ”ﬂ. m
e || = -
; or #12 x 3/4 TEKS ﬁu " or #12 x 3/4 TEKS |-5o0——L— 11 8| &l
{4) 1/4" x 4" Screws to support (4) 1/4" x 4" Screws to support m&m
” .m ol
Post Connections - Saddled Beam Post Connections - End Mount £
Scale:NTS Scale: NTS |m
STRUCTURALONLY ||Z
THOMAS E. BEITELMAN
LICENSE #51870 2
-
=
r e
7/21/2023 [Sheet [3 Lot [3]
No.




3/8° X ¥~ Lag Screw @ £4 u.L.,
installed through 3/4” ferrule

Qeralar 2" = 1°.00"

=

By

m :
§

HE

& E i3

HE

g s

(=]

|

b=

attach at rafter ends ——
3/8" x 8" Lag Screw at each
beam and % beam spacing 114" x 4" SMS @ 12" O.C. with washers
e e 3" Structall Roof Panel with flashing
or receiver cap at end and 18" max. overhang
Gutter inserted under drip edge
Existing Truss !
Bl ! __:__.,_.__.__...Z::i.....__.:_._.-.d.»._..::_ LTS
Rafler" % PR "
e -
e Angled End Cap o il
1x2 x 0.045 ® L« Existing Structure
open channel o \
1 %" x 2" Channel Carrier Beam
; Super Gutter
—— 2 x 6 PT SYP Fascia Contractor to determine
o%ﬂ.&%ﬂ determine " Bac_rmﬁﬁ_%%_ﬁwami of Super Gutter To Structal Composite Panels
downpipe requirements %oﬂﬂmwﬁma.w of Super Gutter To Existin Structure Scale: 3" = 10"
HOST STRUCTURE
ZLELLLLLBILLLTELEL AL LLLLLLLY
Strap or 3/8" x 8" Lag Screw at each beam
and half beam spacing, STRAP LOCATION
installed through 3/4" ferrule
attach at rafter ends L
ﬂ \ Tl BEAM SPACING |_ EQUAL W EQUAL I|_
Rafter STRAP SPACING SHALL BE 1/2 THE BEAM SPACING
® TYPICAL SUPER GUTTER ATTAHCMENT SCHEMATIC PLAN
® 3" Structall Roof Panel with flashing i m—
1x2x0.045 o or receiver cap at end and 18” max. overhang THOMAS E. BEITELMAN
open channel LICENSE #5187
@ Extruded Fascia Drip Edge
1 %" x 2" Channel
Super Gutter
. Contractor to determine 7/21/2023
downpipe requirements

|CLIENT:

Aluminum Screen Enclosures - General Drawings

[SCALE: _varies
| Bevision By:

PROJECT:




Finished Grade
6 6 X #10 WM\ u
__r

*Design based on assumed 1500 psf
bearing capacity of soil

**When expansive clays are shown fo be
present from soil boring logs, a specially
foundation is required to be designed by a
professional engineer.

12° Length of #5 bars @ 48" O.C:
at level of reinforcement or %2 depth
of new slab. Drill 1" diameter by
8" depth into existing concrete and
epoxy grout into place

Connection to Existing Foundation
N.T.S.

3 %" Min.
Finished Grade

A=

Typical Flat Slab Detail
(When no expansive clays present)
N.T.S.

SCREEN ROOMS ONLY
Requirements for Flat Slab Detail:

1 - Concrete to be 2500 psi min.

2 - Reinforcement to be either 6 x 6 #10 WWM
or Fiber-Mesh (must be verified for existing
slabs on grade)

3 - Slope along perimeter of slab to be maximum
of 1" per foot for the first 24" beyond the end
of slab.

4 - Maximum projection of slab beyond host structure
to be 20’-0" in 120 mph, 3 sec. wind zones.

5 - Local ordinances may require a minimum footing,
verify with local authority.

I~ Continuous No. 5
in cap or lintel course

——3##4 Vertical, hook bar
(see table for spacing)
fill cells containing
vertical bars.

*H” See Table

\Imxmxﬁog

Finished ~
Grade

8" Min.

(2) No. 5 bars,
except as shown
in ribbon footing
detail fo right.

3" min. cover
all sides

“See Table) _

ical Knee-Wall Detail

(When no expansive clays present)
N.T.S.

“H” | *“W” | Vertical Bar
(in)|(in.)| Spacing
12

56 | 18 40"

| Per local code
Finished Grade

(1) #5 bar (Gr. 60)
3° cover all faces

Typical 8" x 8” Ribbon Footing
ﬁw.m% no expansive clays present)

SCREEN ROOMS ONLY
Requirements for 8” x 8" Ribbon Footing:

1 - Concrete to be 2500 psi min.

2 - Slope along perimeter of footing to be maximum
of 2" per foot for the first 24" beyond the end
of slab.

3 - Maximum projection of slab beyond host structure
to be 16'-0" in 120 mph, 3 sec. wind zones.

Per local code
Finished Grade
#5 bars (Gr. 60)

See table for quantity
3" cover all faces

Typical Alternate Ribbon Footing
ﬁ@._.o% no expansive clays present)

SCREEN ROOMS ONLY
Requirements for Alternate Ribbon Footing:

1 - Concrete to be 2500 psi min.
2 - Applicable where slope and or span exceed flat slab
and 8" x 8" allowables.

3 - See table below for allowable room spans in wind zones

up to 120 mph, 3 sec. gust winds.

ux” [ «y" [No. bars |Max. Projection|
{in.)|(in.) (ft.)

8 |12 1 226"

121 8 1 24'-0"

12 | 12 2 24'8

16 | 12 2 38-10"

18 |12 2 38-0"

24 | 12 3 484"

(2) 2 x 8 No. 2 PT SYP band beam min.

(2) %" diameter through bolts
(Carriage or hex-head)
Posts to be notched no more than 1"

NN AT ETT
[ &
i .

m. /| Joist

4 Post
(2) %" x 12" dia. bars
“ through posts

Design assumes a minimum soil
bearing strength = 1500 psf
Note: Use 4 x 4 Posts for clear heights up to 4'-0" above grade
Use 6 x 6 Posts for clear heights up to 8'-0" above grade
*¢ x 6 Posts over 6'-0" require 24” knee braces!

2626 B. Park Ave., Unit 4303, Tallshasses, FL 32301
(321) 543-6750 - beitelmaa@gmail.com

Thomas E. Beitelman, PE

Beam Size Beam Span/ Maximum
[Match Joist Size) Post Spacing Jolist Span
(ft)
(2)2x8 8 Up to 10'-0" STRUCTURAL ONLY
AHNNVVMM x._m_o M Up o 1407 ._icrﬂa%mmzmmmwwm“ﬂ-mvh;z
X | —
(2)2x12 8

7/21/2023

Up to 140"
Up to 14'-0" \v\_\l\

'» Aluminum Screen Enclosures - General Drawings




N Receiving Channel May Be
Substituted For The H-Channel

t- Knee Brace See Table For
Size And Connectors

S

KNEE BRACE LENGTH

TYPICAL KNEE BRACE DETAIL AND SCHEDULE

NOTE: KMEE BRACES ARE NOT REQUIRED FOR THE TABLUATED SPANS.

MINIMUM SIZE KNEE BRACE AND CONNECTION

BRACE LENGTH| EXTRUSION CONNECTION
0"TO2'-0" |[2x2x0.044 |2"H-Channel w/ (3) #10 Each Side
2'-0" TO 3'-0" |2x3x0.050 |2" H-Channel w/ (3) #10 Each Side
w.lo.. .—-0 &_Iml N X b X Q-g zo.nﬁ—.— mxﬂq.ﬂ.—mm°= gmﬂ mgg gﬁ_ Tomﬁ
And Attach w/ (4) #10 Each Side

NOTE: ALLOWABLE ROOF BEAM SPANS MAY BE INCREASED BY THE KNEE BRACE LENGTH
IF BRACES ARE ON BOTH ENDS OF THE SPAN. FOR KNEE BRACE ON ONE END ONLY, AN
INCREASE OF % THE KNEE BRACE LENGTH IS ALLOWED.

(4) #10 x 2* Screws Into

Intemal Grooves Of Purdin

2 x 2x0.125 Angle Trim
Leg To Fit
Beam

y

&

Hi
4

% Of Self-Mating Beam |\

2% 2 x0.125 Angle Trim
)% Of Self-Mating Beam _ E W Outstanding Leg To Fit

TYPICAL INTERNAL STIFFENING DETAIL FOR SPANS GREATER THAN 39'-0"

o«

2 x 3x0.045” TPessg,

or2x2with1x2

Cable Connection at Top
Scale: 3" = 12"

(2) 1/4” x 3" Wood Screws 1/

1/8" Stainless Cable with
minimum of two clamps

\\!

Cable Connection at Bottom

—=  Scale: 3"=12"

3" Pressed Steel Clip l\

*Install cables in pairs per 200 SF tributary area of walls, when wall area exceeds 200 SF

Attach internally
from post

Attach internally from post
or through 2 x 2 into
screw bosses

2x2with1x2
Attach with screws
spaced at 24" O.C. max.

— Post

1 %" x 2 1/8" Channel
Attach with (3) #10 SMS
through channel/brace
and channel/lbeam

1 %" x 2 1/8" Channel
Attach with (3) #10 SMS
through channel/brace
and channel/beam

Typical Wind Brace Detail at Roof Framing

Required for rooms extending beyond 12'-0" from host structure

|_— 1/4" Gusset

@

®

®

@l\.

ol S Post (Varies in size)
1/8" Stainless Cable with
minimum of two clamps

— Baam

=
2%
g
: hm
21
Im.m.m
i it
-] i
=§]EH
]
-
==

STRUCTURAL ONLY
THOMAS E. BEITELMAN

/

7/21/2023

SCALE: Vares |CLIENT:

PROJECT: Aluminum Screen Enclosures - General Drawings




1/4" SMS with washers per table

3" Structall Roof Panel with flashin
or receiver cap at end and
24" max. overhang

To Aluminum
Scale: 2" = 1'-0"

e
s
e
.......
e

SIP panels or Metal Pan
Composite roof panel seat

Existing Structure
Scale: 2" =1'-0"

Ridge Cap
Structall Roof Panel with
flashing or receiver cap at end
and 24" max. overhang

Angled End Cap

Attac tructal oS
anels at Rid
Scale; 3"= 1'-0"

120 mph, 3 Sec. Gust, Exposure ‘B’ _

|_Panel Thickness | Max, Span | Fastener Spacing
3" x 0.240 167" 10"
3"x 0.030 19-6" 9
3" x 26 Ga, 19'6" 8
4" x 0.240 182" 10°
4" x0.030 2011 g
4"x 26 Ga. 215" 8"
6" x 0.240 22T 10"
6"x 0.030 26-17 g"

130 mph, 3 Sec, Gust, Exposure B’

|_Panel Thickness | Max. Span | Fastener Spacing |

3" x 0.240 16'-2" 8"
3" x 0.030 18'-11" 7%
3" x 26 Ga. 19-0" 6 %"
4" x 0.240 16'-9" 8"
4" x 0.030 19'-4" 7%
4" x 26 Ga. 19'-9" 6 %"
6” x0.240 20-10" 8"
6" x 0.030 23'-11" 1%
6" x 26 Ga. 24'-8" 6 %"

Notes:

1 - Min. Roof Slope per FBC-2020 Rev 7

2 - Span is measured from center to center of supporting members

2 - 24" max. overhang beyond support framing

3 - Fasteners must be installed a minimum of 2 %" from end of panel
and include 1 14" diameter x 0.4" thick washers

Metal Pan
#8 x 3/4 SMS with washer
\ (3) per pan ~ |
—— \

-

7 % ﬂ%

“\— Edge Beam _
Metal Pan Roof At Edge Beam (Steel Pans)
Scale: NTS

(120 mph, 3 second gust wind loads)

Exposure Category
B c
[0.024" Thickness | 13-1" | 111"
0.030" Thickness 14-1" | 11117

(130 mph, 3 second gust wind loads)

Exposure Category
B c
| 0.024" Thickness 126" | 107
0.030" Thickness 136" | 11-§"
“Open Structures Only”
(120 mph, 3 second gust wind loads)
Exposure Category
B c
* Thi 14'6° | 12'-3"
0.030" Thickness 15'-8" | 13-3"

(130 mph, 3 second gust wind loads)

Thomas E. Beitelman, PE

2626 E. Park Ave., Unit 4303, Tallahassce, FL 32301

(321) 5436750 -

Exposure Category
B c
(0024 Thickness  [13-8' | 11-T"
0.030" Thickness 14-9" | 126"
STRUCTURAL ONLY

THOMAS E. BEITELMAN

¥

7/21/2023




-

[
® |2
e = = £
733x006x006 | §0_76 69 63 b8
2%4%0.05%005 g0 80 T3 68 69 -
130 mph, 3 Sec. Gust, Exposure “B” =
Post Spacing : X m g
[ SeifMitingBeams | 40" 50" ¢0 70" 0| R 5 |3
x4 x0.046 x 0.100 100" __10-0° 100" __10-0"_10-0" 1 m. i
x8x0080x0.116 | 130 IS oT 159 150 19g B2 mm
%6 %0.050 X 0. T < T 2 A T R Y
N o010 | o W Mo 205 19T Sol < e oo w |l
X EX00T2x0224 | 980" 316 205 250 24T %4 x 0,046 x 0.100 T g6 8 ® g [<n
X0x0072x0228 | 320" 303 289 276 26- x5x0.050x0.116 | 134 we 9 = m 38
X9 x 0,087 x 0306 : - - % . x6x %0120 40 10 g | e =
10 x 0. ) I e T A7TX x0. 15 1 5"
Ewi%ummux 390" 376" 356" 340" 320" x8x0.072x0224 | 16 146 136 124 1% 4=
; - —Ix0x0082x0306 | 1701568 145 15+ =t
L 5% 10%x0002x0380 | 180 166 156 146 136
% (4 50 & 60 45
%3 x0.05 x 0,05 75 69 60 58 &0
2% 4x0.05%0.05 g0 ¥ 68 60 6%

SmL
2 ; s g 2 mma
d - o | 5 =
e e : ;
e e |§
10 T 99 96 90 B A o
T e o -Wle-..wslmﬂ o X B '
5 ¥ = - R § S 1 [ 1 W.m_
o o ol - = 22
i e |3
*.._T_. 16 g 14~ - g 13313+ Q
il
E ﬂu
=
STRUGTURAL ONLY w
THOMAS E. BEITELMAN
LICENSE #51870 =

CT:
: Details

\
R

. 712112023




